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Question Number : 1 Question Id : 2549896639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following translates a program written in assembly language into machine code?
Options :

1. % A compiler

2. ¥ An assembler

3. % An operating system

4. % An editor

Question Number : 1 Question Id : 2549896639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ GHUER

2. ¥ TR

3. ¥ TR Reew
4, ¥ e



Question Number : 2 Question Id : 2549896922 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In computer programming, refers to the set of instructions, or a system of rules, written in a

particular programming language.
Options :

1. # Assembling

2. * Compiling

3. * Executing

4. ¢ Coding
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR UETH, A&t & de, a1 aHi hY Yok onTel! it HafHd adr g, St fhdt off g fafre grnfaE amen
¥ forar Srar 8|

Options :

1. ® rafeeT

2. % bt (chutgfeim)

3. % fysare (Taeyfem)

4. ¥ ST

Question Number : 3 Question Id : 2549897122 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used to align the selected line or text to justify the

screen?

Options:



1. % Ctrl+ END
2. % Ctrl +R
3. % Ctrl + U

4, ¥ Ctrl +)

Question Number : 3 Question Id : 2549897122 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
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Options:

1. % Ctrl + END

2. % Ctrl+R

3. % Ctrl+ U

4. ¥ Ctrl +)

Question Number : 4 Question Id : 2549897329 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a Linux operating system, are special functions or programs using which application

programs or system utilities access the Kernel's features.
Options :

1. ¥ system libraries

2. * application utilities

3. ¥ kernel modes

4. * directories

Question Number : 4 Question Id : 2549897329 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ R&%eH s

2. ¥ Uhitehe gfeferd)
3. ¥ e HIS

4, % SRRFL

Question Number : 5 Question Id : 2549897597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A monitor's _____is measured in hertz.

Options:

1. + refresh rate

2. % speed

3. * resolution

4, # screen area

Question Number : 5 Question Id : 2549897597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ Rihar e

2. % d@e

3. ¥ g™

4. % zftg & (Thie Tian)



Question Number : 6 Question Id : 2549897696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of computers is generally NOT considered as a portable device?
Options :

1. % Supercomputer

2. % Laptop

3. ¥ PDA

4. % Tablet

Question Number : 6 Question Id : 2549897696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥V R IR

2. ¥ duery

3. * PDA

4, % ¢qoic

Question Number : 7 Question Id : 25498912980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open the Windows Update window in Windows 8?
Options :

1. % wuapp



2. % wscript
3. * wwiz.cpl

4, #® update

Question Number : 7 Question Id : 25498912980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % wuapp

2. % wscript

3. # wwiz.cpl

4. % update

Question Number : 8 Question Id : 25498929966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-PowerPoint, the key used to run the Slide Show from the beginningis _____.
Options :

1. % F10

2. ¥ F5

3. ® Shift+F5

4. % F9

Question Number : 8 Question Id : 25498929966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % F10

2.¥F5

3. # Shift+ F5

4. % F9

Question Number : 9 Question Id : 25498930218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the Binary equivalent of the following Octal number?

(23)g=(_7_ )
Options :

1. % 11010
2.% 10011

3. % 11011

4. * 11001

Question Number : 9 Question Id : 25498930218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
fAfafEa siaea S o1 a3=-t 9aged R 8?2

(23)g=(__7?_ )2
Options :

1. % 11010

2. % 10011

3. % 11011



4. % 11001

Question Number : 10 Question Id : 25498930654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

URL stands for:

Options :

1. % Unifrom Resource Locator

2. ¥ Universal Resource Label

3. #* Uniform Resource Label

4. % Universal Research Locator

Question Number : 10 Question Id : 25498930654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ gfsere Re eftdhe

2. % gy Rerd St

3. % gRwH Rard duet

4. % gliade R diger

Question Number : 11 Question Id : 25498930716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The development of World Wide Web was begun in which of the following years?

Options :



1. % 1979
2. % 1969
3. % 1989

4. % 1959

Question Number : 11 Question Id : 25498930716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % 1979

2. % 1969

3. ¥ 1989

4. % 1959

Question Number : 12 Question Id : 25498930963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_____Softwares are the softwares which users use directly to perform different activities.
Options :

1. * System

2. ¥ Application

3. % Operating System

4. % Assembler

Question Number : 12 Question Id : 25498930963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. % fwH

2. ¥ Uftche

3. ® SiTqRfe feen

4. % YR

Question Number : 13 Question Id : 25498933232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is the keyboard shortcut is use to cut selected text or graphics and paste it

to the clipboard in an MS-Word 2019 document?
Options:

1. % Ctrl+ C

2. % Ctrl+V

3. % Ctrl +S

4. Ctrl + X

Question Number : 13 Question Id : 25498933232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Ctrl+ C

2. % Ctrl+V

3. % Ctrl+S



4.« Ctrl + X

Question Number : 14 Question Id : 25498933730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The stripe on the back of a credit card is a , often called a magstripe.

Options :

1. # Inked stripe

2. # Charged stripe
3. ¥ Magnetic stripe

4. % Tagged stripe

Question Number : 14 Question Id : 25498933730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % SFs ¥I8y
2. % gros €Wy
3. ¢ f1fed @iy

4, % HE ¥Ry

Question Number : 15 Question Id : 25498933822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What does VGA stands for:

Options:



1. % Vital Graphics Array
2. * Video Guide Ask
3. ¥ Video Graphics Array

4. % Vital Guide Ask

Question Number : 15 Question Id : 25498933822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

VGA ____ &I ®u g:

Options :

1. ¥ qrgee UTfthed &

2. ¥ difet MIe A

3.  difsat mithag W

4, % drscel Mgs 3h

Question Number : 16 Question Id : 2549897348 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % .pbtm
2. ¥ pcx
3. ¥ .pbcx

4. # pbitm



Question Number : 16 Question Id : 2549897348 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a Paintbrush Bitmap Image File.

It was an early bitmap image file format supported in Windows, however, newer image file types

such as BMP and PNG have replaced the file format.
Options:

1. ¥ .pbtm

2. ¥ pcx

3. # .pbcx

4. % pbitm

Question Number : 17 Question Id : 2549897925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Wl

2. % UdamRyg

3. ® S g&er

4. % wmrHfeT

Question Number : 17 Question Id : 2549897925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Mechanism to protect private networks from outside attack is called:

Options :



1. % Firewall
2. * Antivirus
3. * Digital signature

4. * Formatting

Question Number : 18 Question Id : 2549898370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A___ isthe smallest unit of a digital image or graphic that can be displayed and represented on
a digital display device.

Options :

1. # Character

2. ¥ Pixel

3. % Byte

4. % KB

Question Number : 18 Question Id : 2549898370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % @R (Character)
2. ¢ fuada (Pixel)
3. #® 93¢ (Byte)

4, % et (KB)

Question Number : 19 Question Id : 2549899482 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.¢ 9fu=, 24 o
2. % 9fte, 34 U
3. % 8ftm, 24 U=
4. % 7=, 30 fom

Question Number : 19 Question Id : 2549899482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Dot matrix printer are available in and print head.

Options:

1. % 9 pin, 24 pin
2. * 9 pin, 34 pin
3. * 8 pin, 24 pin

4. % 7 pin, 30 pin

Question Number : 20 Question Id : 2549899566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Hhgd ufd I9= &Y

2. % thael flie 3R Th A ol

3. ¥ chad fiic eea iR ufd a= = &t



4. + flic o, ufd T 3R The o Y

Question Number : 20 Question Id : 2549899566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The all in one printer has the facility/facilities of:
Options :

1. % copying only

2. * printing and scanning only

3. # printing and copying only

4. ¢ printing, copying and scanning

Question Number : 21 Question Id : 25498910751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ____ isthe container that holds the toner powder in Laser Printer.
Options :

1. % Scanning mirror

2. ¥ Toner cartridge

3. * Ozone filter

4. * Drum cartridge

Question Number : 21 Question Id : 25498910751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 22 Question Id : 25498911187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Shift + End

2. % Ctrl + N

3. % Ctrl+B

4, % Alt+1

Question Number : 22 Question Id : 25498911187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut in MS-Word 2019 is used to select the text from the

current position to the end of the current line?
Options:

1. % Shift + End

2. % Ctrl +N

3. % Ctrl+B

4, % Alt+1

Question Number : 23 Question Id : 25498913370 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

All digital image compression methods concerned with the number of bits required to

represent an image.
Options :

1. % minimizing

2. * maximizing

3. * increasing

4. * enhancing

Question Number : 23 Question Id : 25498913370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ fafAETsfsT (minimizing)
2. % ARfHATESIT (maximizing)
3. # ggM (increasing)

4. ¥ g (enhancing)

Question Number : 24 Question Id : 25498918430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ AR iR

2. ¥ gapoie fi?



3. ® 3Sft gt fliex
4. % gie Afeay fiiex

Question Number : 24 Question Id : 25498918430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which printer is very commonly used for desktop publishing?
Options:

1. Laser printer

2. * Inkjet printer

3. * Daisy wheel printer

4. % Dot matrix printer

Question Number : 25 Question Id : 25498918521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® ufckar geies

2. % [/O yded

3. ¥ CPU

4, % gfq e

Question Number : 25 Question Id : 25498918521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of OS?



Options :

1. * Process Management
2. * [/0 Management
3.+ CPU

4. * Memory Management

Question Number : 26 Question Id : 25498920543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ F8S (cloud)
2. % %A (system)
3. ¢ & (directory)

4. ¥ 4ry (path)

Question Number : 26 Question Id : 25498920543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A___ isused to store, organize, and separate files and other directories on a computer.
Options :

1. # cloud

2. % system

3. ¢ directory

4. # path

Question Number : 27 Question Id : 25498920768 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______toolis built for logging, capturing and displaying HTTP traffic.
Options :

1. httpry

2. * mig

3. * DPDK

4. % SpamAssassin

Question Number : 27 Question Id : 25498920768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % httpry

2. * mig

3. % DPDK

4. % SpamAssassin

Question Number : 28 Question Id : 25498922013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % I

2. % R=me

3. ¥ thieed



Question Number : 28 Question Id : 25498922013 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DES is an implementation ofa _____ Cipher.

Options :

1. ¥ Newton

2. * Richard

3. ¥ Feistel

4. % Garry

Question Number : 29 Question Id : 25498922631 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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=CEILING(155, 35)
Options :

1.4 175

2. %15

3. %20

4. % 140
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What is the output of the following MS-Excel formula?

=CEILING(155, 35)
Options :

1.4 175

2. % 15

3. % 20

4. % 140
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Options:

1. % Uh.u.8.32 (FAT32)

2. ¢ T.8.T%.7g. (NTFS)

3. ¥ gm.u.&. (FAT)

4. ¥ Uag-THh.U.&. (Ex-FAT)
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If you are not going to install Windows 2000 on a dual-boot workstation, which of the following file

system is preferable to install it?
Options :
1. % FAT32

2. ¥ NTFS



3. % FAT

4. % Ex-FAT
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Which of the following is an audio program, just like Talk Radio, but you subscribe to it on your

smartphone and listen to it whenever you like?
Options :

1. * Blogging

2. * Video conferencing

3. % Podcast

4. * FM Radio
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Options :

1. ¥ s (Blogging)

2. % dfifeat &= (Video conferencing)
3. ¥ uigehre (Podcast)

4. % ympuy At (FM Radio)
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With reference to formula in MS-Excel 2019, a circular referenceis
Options:

1. # Geometric modeling tool

2. * A cell that points to a drawing object

3. ¥ Always erroneous

4. + Aformula that either directly or indirectly depends on itself
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MS-Excel 2019 # iHeT & d&H #, Teh g=ita daf (Circular Reference)

Options :

1. ¥ St Atefeit Iueeor g1 (Geometric modeling tool)

2. % Uop Tl STt Uoh SIST SiTesiae ahl 37R 3RT &xal &1 (A cell that points to a drawing object)
3. % gHa TTerd gid1 81 (Always erroneous)

4. ¥ Yeh BT STt el a1 RIe) ®U J T R AR &1 81 (A formula that either directly or indirectly

depends on itself)
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Which of the following communication services of the internet is used to log on to a remote

computer that is connected to the internet?
Options :

1. * Email

2. ¥ Telnet

3. ¥ Newsgroup



4. #® Mailing lists

Question Number : 33 Question Id : 2549897169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gee ¥ g Rele hger R @ i e & forg e i mfafed J & onta-<ft Sar dar o IuaiT fohar Sar
8?

Options :

1. % 384 (Email)

2. ¢ e (Telnet)

3. ® geu (Newsgroup)
4, % #Afer forked (Mailing lists)
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The watermark option is available in which of the following tabs of MS-Word 2016?
Options :

1. % Edit

2. * Format

3. * Insert

4. + Design
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Options :

1. # Edit

2. * Format
3. * Insert

4. + Design

Question Number : 35 Question Id : 2549897878 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to add text in a PowerPoint slide?
Options :

1. % Text Box

2. * Notes Box

3. * Page View

4. % Qutline
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Options :

1. ¢ e die (Text Box)
2. ¥ dicg i (Notes Box)
3. ¥ o5 g (Page view)

4. ¥ 3m3earsd (Outline)
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Which of the following statements is true in case of Doughnut charts in MS-Excel?
Options :

1. * They are used to illustrate the fluctuation of stock prices.

2. ¥ These charts are not easy to read when they display multiple data series.

3. ¥ These charts compare pairs of values.

4. # These charts display a smooth curve that connects the data points.
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Which of the following is a scheme of e-banking using which individuals, firms and corporates can
electronically transfer funds from any bank branch to any individual, firm or corporate having an

account with any other bank branch in the country participating in the scheme?
Options :
1. % e-governance

2. ¥ e-commerce



3. #* e-ticketing

4. ¥ NEFT
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Options:

1. ¥ 3-71g-19 (e-governance)

2. # 3oy (e-commerce)

3. # 3-feamfdT (e-ticketing)

4. ¥ NEFT
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Which of the following is an example of mixed cell reference in MS-Excel?
Options :

1. % A5

2. % $A$5

3. ¥ A$5%

4. ¥ $A5
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fAafaf@a § @ &-a1, MS Excel & fafad 9« de3f (mixed cell reference) hl Teh 31807 872
Options :

1. % A5

2. % $A3$5

3. ¥ A$5%

4. ¥ $A5
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Which of the following is used to draw the borders, rows and columns of a table in MS-Word 2007?
Options :

1. * Excel spread sheet

2. # Quick table

3. * Insert table

4.« Draw table
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Options :

1. ¥ Yo QIS 2fte (Excel spread sheet)

2. % fggeh ¢ (Quick table)

3. ¥ 3¢ ¢ (Insert table)

4. + gf &&a1 (Draw table)
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Which of the following is a company that provides internet access to organisations and home

users?

Options :

1. ¢ Internet Service Provider
2. * World Wide Web

3. * Domain Name System

4, # E-Governance
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Options :

1. ¢ Fexie 9 UratgeR
2. % geg args A9

3. % 9 A9 ReH

4. ¥ 3-1g-9 (E-Governance)
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If you select Single in the Paragraph dialog box in MS-Word 2019, the line spacing will be

measured in

Options :



1. % points
2. ®* inches
3. % lines

4, # centimetres
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Options :

1. % drsc

2. % $49

3. ¥ =T

4. % &l
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Which of the following keyboard shortcut is used to select all the text in MS Word document?
Options :

1.9 Ctrl + A

2. % Ctrl +S

3. % Ctrl+F

4, % Ctrl+B
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Options :

1.9 Ctrl + A
2. % Ctrl+S
3. % Ctrl+F

4. % Ctrl + B
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While using columns option of the Layout tab in an MS-Word 2019 document, in the 'Left' column

preset, the first columnis___ the second column.
Options:

1. % greater than

2. ¥ smaller than

3. ¥ equal to

4. % greater than or equal to
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Options :

1. % St

2. B8



3. ¥ & WX

4. % T TSI 91 3Gh SR
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Which of the following options in MS-Word 2019 is generally used to make your text stand out just

as if you were highlighting paper with a fluorescent marker?
Options :

1. % Apply Text Highlight Color

2. * Apply Bold format to text, so that it could be mentioned clearly
3. #* Apply text formatting

4. % Write the whole paragraph in the same style
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Options :

1. ¢ AT ¢ae grsarse 41 (Color)

2. ¥ T & oY Siee tiHC TS ohifl, difch Ug WE &Y I Jeoid foham ST deh
3. # YT HiAT TS hit

4. % 1 ORITh Yeh AT 15l | forday
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When you click on the Labels icon in the Create group of the Mailings tab in MS-Word 2016, the

___ dialog box will open.
Options :

1. # Envelopes

2. % Labels

3. ¥ Envelopes and Labels

4. % Create envelope
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Options :

1. ¥ g=aeny (Envelopes)
2. # J9d (Labels)

3. ¥ U@y iR &eet (Envelopes and Labels)
4. ® fohue Udald (Create Envelopes)
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When we click on the given option in the process of Mail Merging a letter, the dialog box will

appear.

—

Greeting
Line



Options :

1. % Insert Greeting line
2. * Insert Greeting

3. ¥ Add Greetings

4. # Add Greetings Line
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—

Greeting
Line
Options:
1. ¢ Mf&T a8 81t (Insert Greeting line)
2. % Hfifdm e (Insert Greeting)
3. % #fif&T SIS (Add Greetings)

4. % TfféT g S (Add Greetings Line)
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Raghu wants to change the envelope size in the Mail Merge process of MS-Word 2019. Identify the

missing option in the given sequence of steps to do so.

-> Create -> Envelope -> options -> Envelope size

Options :



1. % Mailings
2. % References
3. * Page layout

4. % Design
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___->gd (Create) -> forhrmt (Envelope) -> faeed (options) -> feitTtr 3R (Envelope size)
Options :

1. ¢ Afeli (Mailings)

2. # geaf (References)

3. ¥ o9 @emmse (Page layout)

4, % f3Smg4 (Design)
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Which of the following is the slowest type of internet service?
Options :

1. #* Digital subscriber line

2. # 3G and 4G

3. #* Satellite

4. + Dial-up
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Options :

1. % 3fSce geuchiger a1gA
2. ¥ 3G 3R 4G
3. ® Jodrse

4, & SI-319
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With reference to the Pivot Table values area, if you add a text field, by default MS-Excel shows

__ for any text field.
Options :

1. # sums

2. ¥ counts

3. * average

4. ¥ copy
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Options :



1. % T (sums)

2. « ToET/fEd (counts)
3. # 3fl9d (average)

4. % gfafafy (copy)
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Which of the following functions in MS-Excel 2019 counts the number of cells in a range that are
NOT empty?

Options :

1. ¥ COUNT

2. ¥ COUNTA

3. % COUNTBLANK

4. = COUNTIF
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Options :

1. ¥ COUNT

2. ¥ COUNTA

3. % COUNTBLANK

4. * COUNTIF
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Which of the following is NOT a basic component required for conducting a videoconference?
Options :

1. ¢ Printer

2. ¥® Speaker

3. * Monitor

4, * Camera
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Options :

1. ¢ iR

2. ¥ Wi

3. ¥ #iiex

4, ¥ R
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Real-time streaming is most useful for

Options :

1. * small buffer data

2. ¥ big volumes of data

3. #* short audio clips

4, # short video clips
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Options:

1. # A IR S

2. ¥ S TS dicgH

3. ¥ B et femy

4. % I difeal fereru
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Read the given passage and answer the questions.

Galileo Galilei

Galileo Galilei was born in Pisa in Italy on February 15, 1564. His father was a celebrated musician
but wanted his son to study medicine as there was more money in medicine. In 1581, at the age of
seventeen, he entered the University of Pisa to study medicine as his father wished but soon left
the University without a degree. In the end, however, Galileo achieved much more than his father
could have imagined - he became a physicist, mathematician, engineer, astronomer and

philosopher.

Galileo played a major role in shaping modern physics and astronomy. At age twenty, Galileo
noticed a lamp swinging overhead while he was in a cathedral. Curious to find out how long it took
the lamp to swing back and forth, Galileo discovered that the period of each swing was exactly the

same. The law of the pendulum would later be used to regulate clocks.

Galileo also tried to find out if heavier objects fell faster than lighter objects as Aristotle had
declared. According to legend, Galileo climbed up to the top of the 54 metres tall tower of Pisa,
carrying a variety of balls of varying size and weight and threw them off the top. They all landed at

the base at the same time, thereby disproving Aristotle.

Galileo worked on a thermometer, a military compass for use by the artillery and a civilian version
of the compass to survey land. His work with the telescope led to many ground-breaking
explorations of the universe. His findings about the uneven surface of the moon, the four largest
moons of the Jupiter, Saturn’s beautiful ring of clouds, the difference between the appearance of

the planets and the stars and the presence of sunspots - were significant contributions.

Galileo supported the Copernican model of the universe that the Earth went round the sun. Like
Copernicus, he had to face punishment. He later withdrew his claims publicly but was put under

house arrest for the rest of his life.



Tragic though his end was, Galileo Galilei would be appreciated for his efforts in the future.
Through his tireless pursuit of scientific truth, he changed forever our understanding of the

universe and the fundamental laws that govern it.

Sub questions
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What is Galileo most famous for?

Options :

1. * His boldness to challenge Aristotle's teachings.

2. * His contribution to the field of medicine.

3. ¢ His contributions to physics and astronomy.

4. * His work in military science and land survey.
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Why did Galileo's father want him to study medicine?
Options:

1. # His father had a big family to support.

2. ¥ His father believed that doctors made a lot of money.
3. # His father did not want this son to be a priest.

4. ¥ His father wanted ready assistance in medical emergencies.
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What were Galileo's contribution to Astronomy? Choose the CORRECT combination.

Through his telescope, Galileo discovered the
1. uneven surface of the moon.

2. four moons of Jupiter.

3. the beautiful rings of clouds of Saturn.

4. military and the land survey compasses.
Options :

1.4 123 are correct

2. % 234 are correct

3. % 124 are correct

4. % 341 are correct
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Galileo threw down balls of different sizes and weights from the top of the Tower of Pisa and

proved that

Options:

1. * Aristotle was right about falling objects.

2. ¥ smaller and lighter objects fell faster than heavier objects.
3. * bigger and heavier objects reached the ground first.

4. ¢ both light and heavy objects took the same time to land on the ground.
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According to the passage, Galileo will always be remembered because he

Options :



1. # left the University of Pisa without getting a degree.
2. % he was the first man to climb the 54 metre tall Tower of Pisa.
3. ¥ permanently changed people's understanding of the universe and its laws.

4. ¥ was put under house arrest till his death.
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Options :

1. ¥ 3R¥ o RAgidl ol gAY & i ITh! Tgrgd
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1.4123588

2. %234988
3.%¥12449g8

4. % 3419868

Question Number : 56 Question Id : 25498920927 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Acfiferat A dar &Y iR & i T AN SerRY SR WY areft 71 - thdhl ok Rigg fohar fah:

Options :

1. ® fRC a¥gsii o IR # SRE el Y|

2. % 30&Thd BIL 3R geehl axu, 3ifdeh YR axgaft & Sl digdr & AR &1
3. ® 3ffder 9t 3R WY a&qU, YA IR Ut ugddt g1

4. ¥ ght 3R WK g 31l ol A Ik Uga= # GHH THY 11T ¢

Question Number : 57 Question Id : 25498920928 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IS h AR, Teliferal dt Teq a1g @M ST Hifch Igie

Options :

1. % feit forg fomm o fasyfaener sie far url

2. % gg 54 ez S dirar fY R R Te gt v afh o)

3. ¥ sigHie 3R 39 FHl & aR # & &Y gret Wrll ®u 8 uRafdd & &

4. % 3IG IGH! Hg e IR A TR @ T

QUANTITATIVE APTITUDE
Section Id : 2549896620
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549896661
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following expression?

(8792 -4136) +?=145.5
Options :

1. % 38

2.9 32

3. % 42

4. % 36
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(8792-4136) +?7=145.5
Options :

1. % 38

2.¥ 32

3. % 42

4. % 36
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Options:

1. % % 20,000



2. % % 18,000
3. % ¥ 26,000

4.+ ¥ 24,000
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Twelve per cent of Kaushal's monthly salary is equal to sixteen per cent of Nandini's monthly
salary. Suresh's monthly salary is half that of Nandini's monthly salary. If Suresh's annual salary

is ¥ 1.08 lacs, what is Kaushal's monthly salary?
Options :

1. ¥ ¥ 20,000

2. % 18,000

3. # 26,000

4.+ ¥ 24,000
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Study the given information carefully and answer the question that follows:
Anurn contains 6 red, 4 blue, 2 green and 3 yellow marbles.

If four marbles are picked at random, what is the probability that one is green, two are blue and one is red?

Options :
24
1.« 455

13
> % 35



Question Number : 60 Question Id : 25498928790 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
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Options :
24
1.« 455

13

> % 35
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Please evaluate the following expression. (You are NOT required to calculate the exact value)

(15.001)3 =7
Options :
1. % 4000
2. % 3300
3. % 2700

4. % 2500

Question Number : 61 Question Id : 25498928936 Question Type : MCQ Option Shuffling : Yes
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(15.001)3 =2

Options :
1. % 4000
2. % 3300
3. # 2700

4. = 2500
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In this question, two equations numbered I and IT are given. You have to solve both the equations and select the
appropriate option.

L x* =144

Iy*-24y+144=0



Options :

1 @ X=Y

, % X2

3 » Relationship between x and y cannot be determined

o

4, % X%
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. x'=144

Il y*-24y+144=0

Options :
1Lv XY
ox X2Y

L. x 3Ry & @ wey Bl @@ e o1

4% X <Y
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e+

Ifsecf —tan @ =

i 0° < 8 < 90° then sin 9 is equal to:

a2 —

Options :

2 #® a’+1

2a

3. ¢ a?+1
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Options :

at+1

o

=

1. # @
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Options :
1. ¢ i
2. % diRan
3. % qrerft

4. % ggg
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Starvation is related to Nutrition in the same way as Exhaustion is related to:
Options :

1. ¥ Energy

2. % Bravery

3. * Freshness

4. % Courage
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Options:

1. % AEIM

2. % GKOS

3. ¥ MPSW

4. % TXBF

Question Number : 65 Question Id : 25498912905 Question Type : MCQ Option Shuffling : Yes
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In the given question, the letter sequence is formed by skipping three letters in the forward

direction. Which of the following letter series does NOT adhere to this condition?
Options :
1. # AEIM

2. % GKOS



3. ¥ MPSW

4. % TXBF
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Options :

1. ¥ Mohammad

2. ¥ Mohammed

3. ¥ Muhammad

4., % Mohummad
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Arrange the given names in the order in which they would occur in a telephone directory and

choose the one which appears in second position.
Options :

1. * Mohammad

2. ¥ Mohammed

3. ¥ Muhammad

4. * Mohummad
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Options :
1. ® fiRfe
2. ¥ MRAS
3. % gfegra
4. ¢ fegr
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Following four words have been given, out of which three are alike in some manner, while the

fourth one is different. Choose out the odd one.
Options :

1. ¥ Chameleon

2. * Crocodile

3. # Alligator

4. % Locust
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There is a certain relationship between the first two words. Select the correct option which has the

same relationship with the third word.

Coins : Mint :: Bricks : ?
Options :
1. % Kiln

2. * Foundry



3. * Cemetery

4. % Furnace

Question Number : 68 Question Id : 25498927841 Question Type : MCQ Option Shuffling : Yes
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&k ; Tt g2 : ?
Options :

1. ¢ 77 (Kiln)

2. % gofs-wR (foundry)
3. ¥ Hiska™ (cemetery)

4. ® gt (furnace)

Question Number : 69 Question Id : 25498928727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In a certain code, TWINKLE is written as SVHOJKD, then how would FILTERS be written in the same

code?
Options :

1. # EHKSDQR
2. ¥ EHKUDQR
3. % EGKUDQR

4. % GJMSFST

Question Number : 69 Question Id : 25498928727 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * EHKSDQR
2. ¥ EHKUDQR
3. * EGKUDQR
4, % GJMSFST
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NAMA-11 group of countries frequently appears in the news in the context of the affairs of which

one of the following?
Options :

1. * Nuclear Supplier Group
2. % World Bank

3. * World Economic Forum

4. + World Trade Organisation
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1. % oA Syfdhdt WE

2. % fayg da

3. ¥ fay anfefes v

4, « Iy FTUR Ti1a+
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Which of the following fast bowler has taken more number of wickets in Test Match career?
Options:

1. % James Anderson

2. * Glen McGrath

3. #* Stuart Broad

4. % CA Walsh
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Options :

1.+ S Us9H (James Anderson)

2. % 19 8y (Glen McGrath)

3. ¥ 3 §ifs (Stuart Broad)

4. % dY g aresr (CA Walsh)
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The resources which are obtained from biosphere and have life are:
Options:

1. # renewable resources

2. * potential biosphere

3. ¥ biotic resources

4. * abiotic resources
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Options :
1. ® qdieeofty gare=
2. ¥ gp SlgHed



3. + Sfdes dareE

4. % 3roifdes Iare
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Deficiency of which one of the following causes knock-knee, bow legs and pigeon chest in

children?
Options :

1. #* Vitamin A
2. * Vitamin B2
3. % Vitamin D

4. # Vitamin E
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Options :

1. ¥ @ A

2. % fqefd= B2

3. ¢ faafaa D

4. % faafaa E

Question Number : 74 Question Id : 25498930080 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



When is International Day for the Eradication of Poverty, recognised by the UN observed?
Options:

1. * December 11

2. ¥ November 29

3. ¢ October 17

4. % August9
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1. % 11 AR &

2. ¥ 29 qdeR hl

3. ¥ 17 S[eRSR hl

4., ¥ 9 3 aht
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What is common between Kutty, Shankar, Laxman and Sudhir Dar?
Options :

1. * Film direction

2. * Instrumental music

3. #* Classical dance

4. ¥ Drawing cartoons
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498937905 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Oxygen is a non metallic chemical element of the periodic table. Oxygen is colourless and
odourless. It is a tasteless gas essential to living organisms. Animals convert it to carbon
dioxide and plants in turn utilize carbon dioxide as a source of carbon and return the oxygen
to the atmosphere. Oxygen forms compounds by reaction with practically any other
element as well as by reactions that displace elements from their combinations with each
other. In many cases these processes are accompanied by the evolution of heat and light
and in such cases are called combustions. Its most important compound is water. Oxygen
was discovered by a Swedish chemist Carl Wilhelm Scheele who obtained it by heating
potassium nitrate and mercuric oxide along with many other substances. An English
chemist Joseph Priestley independently discovered oxygen in by the thermal decomposition
of mercuric oxide and published his findings the same year which was three years before
Scheele published. French chemist Antoine with remarkable insight interpreted the role of
oxygen in respiration as well as combustion discarding the earlier theory which had been
accepted up to that time. He noted its tendency to form acids by combining with many
different substances and accordingly named the element oxygen from the Greek words for
acid former. Oxygen is the most plentiful element in Earth crust. The proportion of oxygen
by volume in the atmosphere is one third and by weight in seawater is nine tenth. In rocks it
is combined with metals and non metals in the form of oxides that are acidic or basic and as
salt like compounds that may be regarded as formed from the acidic and basic oxides such
as sulphates and carbonates or aluminates and phosphates. Plentiful as they are these solid
compounds are not useful as sources of oxygen because separation of the element from its
tight combinations with the metal atoms is too expensive. During respiration animals and
some bacteria take oxygen from the atmosphere and return carbon dioxide to it whereas by
photosynthesis green plants assimilate carbon dioxide in the presence of sunlight and
evolve free oxygen. Almost all the free oxygen in the atmosphere is due to photosynthesis.
Dissolved oxygen is essential for the respiration of fish and other marine life. Oxygen has
two allotropic forms which are diatomic and triatomic. The properties of the diatomic form
account for the paramagnetism of oxygen. The three atoms in the ozone molecule do not lie
along a straight line. When required in tonnage quantities oxygen is prepared by the
fractional distillation of liquid air. Of the main components of air oxygen has the highest
boiling point and therefore is less volatile than nitrogen and argon. The process takes

advantage of the fact that a compressed gas cools when it is allowed to expand. The steel



industry is the largest consumer of pure oxygen. It is used in blowing high carbon steel that
is volatilizing carbon dioxide and other non metal impurities in a more rapid as well as easily
controlled process than if air were used. The treatment of sewage by oxygen holds promise
for more efficient treatment of liquid effluents rather than other chemical processes.
Incineration of wastes in closed systems using pure oxygen has become important. Pure

oxygen is used in submarines and diving bells.
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